CHEM 1212K

Chapter 16 Homework
1) An aqueous solution at 25.0°C contains [H+] = 0.080 M. What is the pH of the solution?

2) Calculate the molarity of hydroxide ion in an aqueous solution that has a pOH of 5.00.

3) What is the pH od a 7.0 × 10-3 M aqueous solution of Ca(OH)2 at 25.0°C.

4) The Ka of hypochlorous acid (HClO) is 3.0 × 10-8 at 25.0°C. Calculate the pH of a 0.0335 M hypochlorous acid solution.

5) The base-dissociation constant of ethylamine (C2H5NH2) is 6.4 × 10-4 at 25.0 °C. Calculate the [H+] in a 1.6 × 10-2 M solution of ethylamine.
6) Calculate the pH of a 0.100 M aqueous solution of NH3. The Kb of NH3 is 1.77 × 10-5.

7) The acid-dissociation constant of hydrocyanic acid (HCN) at 25.0°C is 4.9 × 10-10. What is the pH of an aqueous solution of 0.080 M sodium cyanide (NaCN)?
8) Determine the pH of a 0.35 M aqueous solution of KF. For hydrofluoric acid, Ka = 7.0 × 10-4.
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